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0
00:00:01.170 ——> 00

100:05.640

Thank you everybody. It's now just after 1601.

1
00:00:05.830 ——> 00

100:10.280

1602. And we're resuming this hearing, uh,

2
00:00:10.660 ——> 00

100:14.520

before passing to the point made, uh, by Ms. Affo.

3
00:00:14.760 ——> 00

:00:17.800

I just wanted to clarify, um, Mr. Elvin,

4
00:00:18.340 ——> 00
you mentioned the N

5

00:00:23.180 ——> 00:

um, to be submitted

6

00:00:26.080 ——> 00:

And I wondered if I

7

00:00:28.980 —-—> 00:

it was mentioned in

8

00:00:33.380 —-—> 00:

is it possible that

9

00:00:40.380 —> 00:

Excuse me. Can I go

10

00:00:47.700 —> 00:

No, I'm told

11

00:00:51.720 ——> 00:

I give your candor.

12
00:00:53.380 —-—> 00

100:22.440
R A that you'd been, uh, producing,

00:26.080
at Deadline two. Yes.

00:28.800
could clarify that. Um,

00:32.920
your relevant representation. Um,

00:35.720
could be submitted at Deadline one?

00:41.840
into a huddle?

00:48.560

00:53.280
We will, we will

100:57.360

Try and produce it before deadline to if it is possible,



13
00:00:57.780 ——> 00:00:59.560
but there's still quite a bit of work to do.

14
00:00:59.830 ——> 00:01:04.720
That would be welcome, I think, from all parties. Thank you. Um, Ms,

15
00:01:04.720 ——> 00:01:09.720
Staffer, uh, we think that your right on balance that, um,

16
00:01:10.290 ——> 00:01:15.080
there will be sufficient overlap between your interests and please

17
00:01:15.710 ——> 00:01:19.200
proceed and then we'll pick up questions to, uh,

18

00:01:19.370 ——> 00:01:23.120

we'll actually give an opportunity to C L D and to take the same
view whether

19

00:01:23.120 ——> 00:01:27.680

you want to hear back from the applicant before representing, but
first,

20
00:01:28.010 ——> 00:01:28.360
we're

21
00:01:28.360 ——> 00:01:29.360
Gonna get through summaries first.

22
00:01:29.700 ——> 00:01:34.160
So we'll ask you to present the S'S position.

23
00:01:35.920 ——> 00:01:39.480
Isabella for D F D S. Thank you, sir. Unm,

24

00:01:40.250 —> 00:01:44.120

responding first to, uh, just a point that Mr. Straw made in his
opening,

25
00:01:44.610 —> 00:01:48.520
which was about the fact that the port's n p s doesn't require a



navigational

26
00:01:48.550 —> 00:01:52.360
risk assessment. And that may be so sir. Um,

27

00:01:52.460 ——> 00:01:56.160

but section 1 @ 4 of the Planning Act requires you to have regard
not just to

28
00:01:56.160 —> 00:02:00.760
the port's N P s, but to appropriate marine policy documents,

29

00:02:01.210 ——> 00:02:06.160

which include the UK marine policy statements and the East inshore
and offshore

30
00:02:06.300 —> 00:02:07.240
marine plans,

31

00:02:08.180 —> 00:02:12.920

all of which you'll be unsurprised to here contain policy on the
importance

32
00:02:12.980 —-—> 00:02:16.880
of ensuring navigational safety and the way that, that, uh,

33

00:02:16.980 ——> 00:02:20.600

the applicant seeks to demonstrate that in this case is through the
navigational

34
00:02:20.630 ——> 00:02:25.280
risk assessment. Now, just briefly, sir, if I may,

35
00:02:25.420 ——> 00:02:27.840
uh, outline, uh, in brief summary,

36

00:02:28.280 ——> 00:02:33.240

D F D FDSS operations at the Port so that you can understand their
concerns and,

37
00:02:33.260 ——> 00:02:35.240
and the risks that they're exposed to.



38

00:02:35.990 ——> 00:02:40.680

They are one of the largest users of the Port of Ingham with around
a thousand

39
00:02:41.040 ——> 00:02:44.920
employees there on most days. They have at least three, uh,

40
00:02:44.920 ——> 00:02:48.000
scheduled vessels arriving and departing from the port,

41

00:02:48.810 ——> 00:02:53.240

which is considerably higher than most other users of the Ingham
infrastructure

42

00:02:54.060 ——> 00:02:58.680

and means that D F D S will be disproportionately affected by any
safety or

43
00:02:58.680 ——> 00:03:01.680
operational issues caused by the proposed development.

44
00:03:03.220 ——> 00:03:07.320
Its operations at Ingham are one of the largest row row, uh,

45
00:03:07.320 ——> 00:03:10.600
operations in the UK during 2023.

46

00:03:10.660 —> 00:03:14.800

Its forecast to move a total of 6 760 freight units through the
port.

47
00:03:16.260 ——> 00:03:17.920
If its operations in Ingham,

48
00:03:17.920 ——> 00:03:21.000
were a standalone port that would make it the eighth largest.

49
00:03:21.260 ——> 00:03:25.840
In terms of throughput in the UK and its operations there,

50



00:03:26.300 —> 00:03:30.360
uh, at Ingham are a key part of the strategic supply chain in the
uk.

51

00:03:31.060 ——> 00:03:35.600

It was heavily relied upon to ensure resilience in the supply chain
during the

52
00:03:35.600 ——> 00:03:39.680
lead up to Brexit and during the Covid pandemic, um,

53

00:03:39.680 ——> 00:03:43.840

which included it being one of the government's strategic freight
capacity

54
00:03:43.840 ——> 00:03:45.120
acquisition corridors.

55

00:03:46.620 ——> 00:03:51.360

The Port of Ingham Ingham itself is one of the UK's busiest ports.
It her hosts.

56
00:03:51.360 ——> 00:03:55.240
As we've heard a number of key port infrastructure facilities,

57

00:03:55.250 ——> 00:03:59.680

which are of national significance, where dangerous cargo is handled
in bulk,

58
00:04:00.220 ——> 00:04:01.480
in close proximity to,

59

00:04:01.620 ——> 00:04:05.600

for port infrastructure and an area of strong and complex tidal
flows.

60

00:04:06.170 ——> 00:04:10.960

There have been multiple marine incidents in the area as summarized
in section

61
00:04:10.970 —> 00:04:15.200
3.5 of our relevant rep, which is r r 0 0 8.



62
00:04:16.100 —> 00:04:19.280
One incident, which isn't included there, um,

63
00:04:19.900 —> 00:04:24.240
is one that took place in 2022 last year. Um,

64
00:04:24.660 —> 00:04:26.080
and I, in that incident,

65

00:04:26.360 ——> 00:04:31.200

a loaded tanker departing from the Ingham oil terminal collided with
a

66
00:04:31.220 ——> 00:04:33.680
boy in the very location, um,

67
00:04:33.820 ——> 00:04:36.280
of the project's proposed births.

68

00:04:37.390 ——> 00:04:41.440

That didn't particularly matter at the time because it was just a
boy there.

69
00:04:41.820 ——> 00:04:43.840
But if there are three additional births there,

70
00:04:43.840 ——> 00:04:47.360
obviously the implications will be very much more significant. Um,

71
00:04:47.360 ——> 00:04:50.880
and we understand that at the time of that incident, the, um,

72
00:04:50.890 ——> 00:04:54.520
conditions were benign and the vessel was being, um,

73
00:04:54.790 ——> 00:04:58.800
piloted by a pilot with, um, considerable experience.

74
00:04:59.180 ——> 00:05:03.680
It was just a result of human e error. As an aside,



75
00:05:04.020 ——> 00:05:07.640
um, it's worth noting that A B P, um,

76
00:05:08.380 —> 00:05:12.760
didn't inform stakeholders of that incident at subsequent has ID

77
00:05:13.080 ——> 00:05:15.640
workshops, and we don't know whether it's, uh,

78
00:05:15.910 —> 00:05:20.480
accounted for at all in their N R A Now,

79

00:05:20.480 ——> 00:05:24.520

given the importance of its operations and the constraints and
complexities at

80
00:05:24.520 ——> 00:05:29.400
the Port D F D S has engaged extensively with a

81

00:05:29.440 ——> 00:05:34.120

B P and other stakeholders to try to ensure that safety and
operational impacts

82
00:05:34.340 ——> 00:05:37.440
are properly assessed and appropriately mitigated.

83

00:05:38.540 ——> 00:05:43.120

It has responded to consultation attended, has ID workshops and
simulations,

84
00:05:44.400 ——> 00:05:47.520
arranged meetings at the highest level with A B P,

85
00:05:47.950 —> 00:05:51.520
both in the UK and Denmark, and engaged with the Harbor Master.

86

00:05:52.580 ——> 00:05:57.360

And so pausing there for a moment, uh, to respond to a submission
that Mr.

87
00:05:57.500 ——> 00:06:01.440



Strand made. Those aren't the actions of, uh,

88

00:06:01.580 ——> 00:06:06.280

simply a commercial rival who wants to scupper this scheme at all
costs.

89
00:06:06.750 ——> 00:06:09.480
This has been positive engagement designed.

90
00:06:10.260 ——> 00:06:12.480
We hoped to positively influence the outcome.

91
00:06:12.480 ——> 00:06:16.080
We've made constructive suggestions, um,

92

00:06:16.260 ——> 00:06:21.200

as to further data and input that should be included and further
workshops

93
00:06:21.200 ——> 00:06:23.200
that should be carried out throughout the process.

94
00:06:23.900 ——> 00:06:26.760
And we will provide a summary of all our, um,

95

00:06:26.760 ——> 00:06:30.680

correspondence and engagement and samples of the relevant
communications that

96
00:06:30.680 ——> 00:06:32.080
we've sent, which will make that good

97

00:06:34.020 ——> 00:06:37.400

in spite of its concerted efforts to positively influence the
process.

98
00:06:38.260 —> 00:06:39.080
As of today,

99
00:06:39.080 ——> 00:06:43.320
D FDSS retains fundamental concerns that A B P has



100

00:06:43.780 —> 00:06:48.680

failed properly to assess or appropriately mitigate the impact on
the court's

101
00:06:48.790 ——> 00:06:53.080
safe and efficient operation on safety.

102

00:06:55.020 —> 00:06:59.160

It remains of the view that the applicant's N R A and the
simulations that

103
00:06:59.260 ——> 00:07:03.560
inform it are not fit for purpose. Firstly, with the N R A,

104
00:07:03.700 ——> 00:07:08.040
the principle concerns are the use of mixed methodologies

105
00:07:08.700 ——> 00:07:12.920
in the N R A, which incorporate elements, um,

106
00:07:13.180 ——> 00:07:18.160
of a risk assessment methodology, um, for offshore installations,

107
00:07:19.220 ——> 00:07:20.053
um, whose,

108

00:07:20.370 —> 00:07:24.680

which explains in its executive summary that is the R r I risk
assessment

109

00:07:24.680 ——> 00:07:28.840

methodology that it's intended for assessing marine navigational
safety of

110
00:07:29.040 ——> 00:07:34.040
offshore renewable energy installations. As we know,

111

00:07:34.630 —> 00:07:38.680

this port is in an area controlled by the statutory Harbor Authority
and

112



00:07:38.920 ——> 00:07:42.520
Competent Harbor Authority, both incidentally, A B P,

113
00:07:42.900 —> 00:07:44.920
and it's clearly not an offshore installation.

114
00:07:45.260 ——> 00:07:48.680
And the use of the OR I methodology is not appropriate.

115

00:07:49.660 ——> 00:07:53.600

The assessment should have been based exclusively on the Port Marine
Safety Code

116
00:07:53.600 ——> 00:07:57.120
rather than the bespoke mix with none of the, uh,

117

00:07:57.120 ——> 00:08:02.000

navigational safety experts from DFDS have ever seen used in any
other N R

118
00:08:02.040 ——> 00:08:07.040
A before Indeed ABPs own I Green Energy terminal

119
00:08:07.320 ——> 00:08:11.280
a few hundred meters away. It is intending,

120

00:08:11.280 ——> 00:08:16.160

according to its preliminary environmental information report to
carry out an

121
00:08:16.200 —> 00:08:19.880
N R A using the Port Marine Safety, uh, code methodology,

122
00:08:20.210 ——> 00:08:23.800
which its peer describes as best practice. And we agree,

123

00:08:23.900 —> 00:08:27.880

and that's the methodology that should have been employed
exclusively here.

124
00:08:28.700 ——> 00:08:30.520
The difficulty with the, um,



125
00:08:30.820 ——> 00:08:35.760
hybrid approach adopted is that the Port Marine Safety Code and the

126
00:08:35.860 —> 00:08:39.280
ORI methodology produce different outputs to measure risk,

127
00:08:39.700 ——> 00:08:43.560
one quantitative and one qualitative. And by mixing the two,

128

00:08:43.760 ——> 00:08:48.600

the outputs from the N R A are not transparent and they don't enable
the reader

129

00:08:48.700 ——> 00:08:53.120

to understand and interrogate the conclusions as to the tolerability
of risk.

130
00:08:54.880 ——> 00:08:59.600
The N R A also uses inappropriate wind data with the applicant

131
00:09:00.000 ——> 00:09:02.640
choosing to use wind data from homicide airport,

132

00:09:02.640 ——> 00:09:07.120

which is some 15 kilometers inland and not representative of
conditions at the

133
00:09:07.120 ——> 00:09:07.660
port,

134
00:09:07.660 —> 00:09:12.400
rather than ABPs own local data from the Ingham Dock Marine Control

135
00:09:12.420 ——> 00:09:17.120
Center and the Stone Creek radar mast. Furthermore, Mr.

136
00:09:17.120 ——> 00:09:21.160
Steff, I, yes, I, forgive me, I I really don't want to be rude. Unm,

137
00:09:22.110 ——> 00:09:25.000



your PAD submission was terrific,

138

00:09:25.300 ——> 00:09:29.480

and we've noted all the points in there and there's, there's a lot
of them. Um,

139
00:09:29.840 —> 00:09:33.320
I don't think, uh, it's necessary because every,

140

00:09:33.560 ——> 00:09:38.440

I think most of the people here have had the opportunity to recite
them in

141
00:09:38.450 ——> 00:09:39.283
total.

142

00:09:39.640 ——> 00:09:44.040

I also think it's really useful if you could take the opportunity to
address

143
00:09:44.180 ——> 00:09:48.800
the, uh, the, the statement that Mr. STR made for the applicant, um,

144
00:09:49.620 ——> 00:09:53.800
in particular the, the, the, the, the, uh,

145
00:09:53.950 ——> 00:09:58.720
case was made that it's not been a mixed methodology

146
00:09:58.980 ——> 00:10:03.640
as such, but they have drawn on the has id, uh,

147
00:10:03.640 ——> 00:10:07.400
process that is recommended in the annex one term,

148
00:10:07.700 —> 00:10:10.640
GN 6 5 4. Um, if,

149

00:10:10.640 ——> 00:10:15.560

however you disagree with that statement, I'd really appreciate it
if you could,



150
00:10:15.620 ——> 00:10:17.200
uh, give us some detail,

151
00:10:18.200 —> 00:10:21.280
Isabella, for D F D S, sir, on that particular issue,

152
00:10:21.280 ——> 00:10:24.160
the mixing of the methodologies, I'm going to ask Mr. Bishop,

153
00:10:24.260 ——> 00:10:26.520
who is joining us online, um,

154

00:10:26.740 ——> 00:10:31.560

to address you on whether there are indeed mixed methodologies in
the N R A and

155

00:10:31.560 ——> 00:10:35.600

what that means in terms of the outputs and the conclusions and
their

156
00:10:35.600 ——> 00:10:37.560
transparency there. He is,

157

00:10:39.560 ——> 00:10:43.960

Uh, good afternoon. He says, Graham Bishop on behalf of D F D S,
very, um,

158
00:10:44.620 ——> 00:10:45.260
the, the, the,

159
00:10:45.260 ——> 00:10:49.680
the term methodology is used within the two

160
00:10:49.680 —> 00:10:53.630
different, uh, uh, uh, uh, uh, conscripts if you like.

161
00:10:53.730 ——> 00:10:55.590
So the,

162
00:10:55.690 ——> 00:10:59.750
or the offshore one refers to itself as a methodology and the,



163
00:10:59.810 ——> 00:11:02.070
the term methodology is used within Portman Safety Code.

164
00:11:02.410 ——> 00:11:06.310
So although they follow the F Ss a guidance, you know, they, they,

165
00:11:06.570 —> 00:11:10.790
in terms of data collection, uh, uh, uh, has Id, uh, uh,

166
00:11:10.850 ——> 00:11:13.590
and review, they, they both follow that guidance.

167
00:11:14.220 ——> 00:11:16.110
They both do it in slightly different ways,

168
00:11:16.410 —> 00:11:19.230
and they both produce slightly different outputs. One quantitative,

169
00:11:19.230 ——> 00:11:23.550
one qualitative, and it's at that point where it becomes confusing.

170

00:11:23.750 ——> 00:11:27.430

'cause at the start of the documentation, the, the applicant states
that they,

171
00:11:27.430 ——> 00:11:32.190
they're using the, the offshore one. Uh, and again, uh,

172
00:11:32.600 ——> 00:11:37.510
we're not saying that the the offshore one is, is, is,

173

00:11:37.730 —> 00:11:42.620

um, is not right. We're just questioning whether it's the most
appropriate, uh,

174

00:11:42.620 —> 00:11:45.500

because of the statement that it's used for offshore installations
rather than,

175
00:11:45.880 —> 00:11:49.100



uh, a port environment. You know, they, they, they, they,

176
00:11:49.100 ——> 00:11:50.380
they both follow the guidance,

177

00:11:50.430 ——> 00:11:55.200

which comes from the overarching documentation issued by the I M O,
the,

178

00:11:55.200 ——> 00:11:58.280

the F S A guidance, but they go about it in slightly different
routes,

179

00:11:58.500 —> 00:12:01.640

and they produce slightly different outputs. And, and what happens
is,

180

00:12:01.740 —> 00:12:06.200

as as you, you, you start reading down the offshore, um,
installation,

181
00:12:06.780 ——> 00:12:08.240
uh, uh, methodology, which,

182
00:12:08.250 ——> 00:12:10.400
which is the one they're telling you they're going to use,

183

00:12:11.140 ——> 00:12:14.640

and then you get halfway through the process and it seems to jump
across and

184
00:12:14.640 ——> 00:12:17.880
start quoting stuff that's written within the port main safety code,

185

00:12:18.060 —> 00:12:21.080

but not referred to within your, the offshore installation
methodology.

186

00:12:21.500 ——> 00:12:25.720

And that's where the whole thing becomes confusing. So to the
reader, it,

187



00:12:25.720 ——> 00:12:28.920
it then becomes confusing as to which, which,

188
00:12:29.790 ——> 00:12:34.740
which flow they want to use and how they're

189

00:12:34.740 —> 00:12:39.060

getting their answers be because they're, they're, they're slightly
different.

190

00:12:46.790 —> 00:12:49.650

Beg your pardon, Mr. Bishop, thank you very much. That's very
helpful. Mr.

191

00:12:49.890 ——> 00:12:54.410

Er is, uh, would you like to ask anything further, Mr. Bishop at
this stage?

192
00:12:54.710 ——> 00:12:59.610
Um, so I, not at this stage, I don't think, um,

193

00:12:59.870 ——> 00:13:04.330

on the nr on the N R A, unless you have any particular questions on
that.

194
00:13:04.870 —> 00:13:09.370
Um, on the simulation, sir, we have six broad concerns.

195

00:13:09.370 ——> 00:13:14.090

I'l1l take them quickly because I take your point. Firstly, use of
title,

196
00:13:14.350 ——> 00:13:19.130
um, direction data that is more favorable than actually exists. Um,

197
00:13:19.350 ——> 00:13:22.810
and so there is an additional point that I'd like to, um,

198

00:13:24.950 ——> 00:13:28.890

ask somebody from my team to respond on that. And that was the use,
um,

199



00:13:28.960 ——> 00:13:33.890
that the applicant referred to of a boy to take, um,

200

00:13:34.700 ——> 00:13:39.090

tidal measurements, which were then used to inform the simulations.
Um,

201
00:13:39.390 ——> 00:13:43.770
and best place to do that. Um, I think it might be Mr.

202
00:13:43.770 ——> 00:13:46.530
Nielsen I'm going to introduce, but effectively, uh,

203
00:13:46.550 ——> 00:13:50.850
if I can summarize effectively, we don't,

204
00:13:51.550 ——> 00:13:54.130
at D FD S, we don't have any, unm,

205

00:13:54.600 —> 00:13:59.130

data to contradict the boy in the position that it was, um, which
is,

206
00:13:59.550 ——> 00:14:04.050
uh, land wood, um, of the, um,

207
00:14:04.650 ——> 00:14:05.890
I oT terminal.

208

00:14:06.760 —> 00:14:11.570

What we do know is that from the data that the applicant took from
that boy,

209
00:14:12.280 —> 00:14:16.450
they show tidal flows at the I o T to run

210
00:14:17.290 ——> 00:14:22.250
parallel with the terminal. And that is contrary both to, um,

211
00:14:22.250 ——> 00:14:26.930
publish data, even including ABPs own guide to pilots,



212
00:14:27.550 ——> 00:14:32.410
and also with the consistent experience of the experienced

213
00:14:32.730 —> 00:14:36.810
mariners who have been involved in those maneuvers. And I,

214

00:14:36.970 —> 00:14:41.970

I wonder if it, if perhaps Jonathan Bush might be the appropriate
person,

215
00:14:42.670 ——> 00:14:47.010
um, to speak to that or, um, or Mr. Nielsen, uh,

216
00:14:47.230 ——> 00:14:50.210
or indeed, captain Carson, all of who have, um,

217
00:14:50.220 ——> 00:14:52.720
experience of navigating those waters.

218
00:14:57.030 ——> 00:15:00.880
Yeah. Yes. But Nelson, on behalf of, uh, D F D S, and, and maybe I,

219

00:15:01.000 ——> 00:15:05.320

I should just start by, by clarifying what, uh, Mr. Forter said
that,

220
00:15:05.740 ——> 00:15:08.760
and in order to, to, uh, not waste too much time,

221

00:15:08.760 ——> 00:15:13.240

because we have indeed discussed the title flow quite, uh, quite a
lot. Uh, and,

222

00:15:13.240 ——> 00:15:17.360

and we are still not fully in agreement. But to make it absolutely
clear,

223

00:15:17.500 ——> 00:15:21.480

we are not disagreeing what the boy has measured because we don't
know that we

224



00:15:21.480 —> 00:15:25.000
have not seen the measurements in and around where the terminals
supposed to be

225
00:15:25.000 —> 00:15:25.590
built.

226

00:15:25.590 ——> 00:15:30.400

What we are questions is the flows that is under northern part of
the I o ot

227
00:15:30.590 —> 00:15:35.520
that seems at odds in the model provided by, uh, by the simulations,

228
00:15:36.140 ——> 00:15:40.080
uh, of what our captains experience on, uh, on every day when they,

229
00:15:40.080 ——> 00:15:43.560
when they sail there in our res written response. We also, uh,

230
00:15:44.740 ——> 00:15:47.880
showed a picture, a picture taking from the same, uh,

231
00:15:48.030 ——> 00:15:52.520
institute making the, the simulations. And there we, uh,

232

00:15:52.520 ——> 00:15:56.200

were present because we needed to do some simulations of our own.
Um,

233
00:15:56.800 ——> 00:16:01.360
and we tested the two models, the two, the project from, from this.

234
00:16:01.360 —> 00:16:03.400
We are looking at the project that, that, that we made.

235
00:16:04.260 ——> 00:16:07.760
And despite being told that, uh, the model was the same,

236

00:16:08.050 ——> 00:16:12.560

there was a difference on the angle on the, on the current. As you
could see 1in,



237

00:16:12.560 ——> 00:16:16.720

uh, in our response, I was told that the data behind was, was the
same,

238
00:16:17.220 —> 00:16:21.040
but it's still curious. And of course, uh, suspect for us that, uh,

239
00:16:21.040 —> 00:16:23.720
that we can see there is a difference on the, on the, in

240
00:16:25.320 ——> 00:16:29.160
A. And so what we suggest that's just on that same issue,

241
00:16:29.230 ——> 00:16:33.000
what what we've suggested in the interest of positive, um,

242

00:16:33.490 ——> 00:16:38.400

steps that could be taken is that a boy or a measurement should be
taken by

243
00:16:38.400 —> 00:16:41.520
the applicant north of the I 0 T, because of course,

244

00:16:41.840 ——> 00:16:46.440

tidal flows there affect the maneuverability and the simulations
shown because

245

00:16:46.440 ——> 00:16:50.920

vessels are intending to start north of the iot to maneuver into the
births.

246
00:16:51.500 ——> 00:16:53.840
So that is, um,

247

00:16:54.040 ——> 00:16:57.920

a practical step that we would ask the applicant to take that we
think would

248
00:16:57.920 ——> 00:17:01.040
assist them in narrowing or hopefully resolving this issue.



249
00:17:04.260 ——> 00:17:09.120
So basically a new data, data input.

250
00:17:09.900 ——> 00:17:10.580
Yes.

251
00:17:10.580 ——> 00:17:11.280
Yep.

252
00:17:11.280 ——> 00:17:12.240
A new data input.

253
00:17:12.980 ——> 00:17:17.440
Now, has that recommendation or that request already been made,

254
00:17:18.060 ——> 00:17:19.960
is this the first time that the applicant's heard

255
00:17:19.960 —> 00:17:22.600
0Of it? So we have, um, repeatedly,

256
00:17:23.600 —> 00:17:26.400
repeatedly raised concerns with the title, uh,

257
00:17:26.510 00:17:30.600
data used in the simulation and repeatedly informed a B P,

|
I
\%

258

00:17:30.600 ——> 00:17:35.240

that that is not the experience of, um, those involved from our
side,

259
00:17:35.240 ——> 00:17:39.960
navigating those waters or shown in their own handbook. Um,

260
00:17:40.190 ——> 00:17:43.560
long before today, we wrote to the Harbor Master in August of 2022,

261

00:17:43.560 ——> 00:17:48.240

raising a number of concerns, including the title data used in the
simulation.



262

00:17:48.260 ——> 00:17:52.

600

So this has been a consistent, um, point that we've raised.

263

00:17:53.570 ——> 00:17:54.

Thank you.

264

00:17:54.300 ——> 00:17:58.

300

600

And whilst I could make assumptions on what the implications of,

265

00:17:58.820 —> 00:18:03.

of that, um, if you like,

266

00:18:03.910 —> 00:18:08.

560
difference of, uh, uh, uh, of, um,

400

opinion on, on the data input would have, um,

267

00:18:08.560 —> 00:18:12.

I think it's best for you

268

00:18:12.670 —> 00:18:15.

what that means in regard

269

00:18:17.110 ——> 00:18:21.

Yeah. Yes. On, uh, behalf

270

00:18:21.960 ——> 00:18:22.
sir. Um,

271

00:18:25.060 ——> 00:18:29.

The difference is the way
facility,

272

00:18:30.190 ——> 00:18:34.

because if the current is

273

00:18:34.200 ——> 00:18:37.

then it will not take you

274

00:18:37.590 ——> 00:18:42.

560
to spell it out for the examination, what,

760
to the simulations.

960
of, uh, D F D ss. Thank you,

920

480
that you want to approach the new

200
going parallel to the I o ot,

360
on neither of the i o ot.

240

What we experience is that the current is moving, and if it's, uh,

275



00:18:42.510 ——> 00:18:46.920
depending whether it flawed or I will either take you on the I o OT
or off the

276
00:18:47.100 ——> 00:18:51.040
iot. So the first turns that you're going to make will be, uh, some

277
00:18:52.640 ——> 00:18:57.000
somewhat different than what the model shows. I hope it, uh,

278
00:18:57.000 ——> 00:18:59.520
explains to the US other than I, otherwise, I think we need to, uh,

279
00:18:59.520 ——> 00:19:01.440
to have Jonathan push to, to clear it to us,

280
00:19:01.710 —> 00:19:04.120
been piloting in and out of this area many times.

281
00:19:05.290 ——> 00:19:06.200
Thank you, sir. One,

282
00:19:06.590 —-—> 00:19:10.720
certainly I did anticipate asking questions on this,

283

00:19:10.780 ——> 00:19:15.520

but I think in the interest of moving forward, what I'd like to do
is to have,

284
00:19:15.780 ——> 00:19:20.000
uh, from the, uh, I think it's APP oh nine one, uh,

285
00:19:20.000 —> 00:19:25.000
which is the second of the simulation reports in the examination

286
00:19:25.000 —> 00:19:30.000
library. Um, I'd like to see run 59 on screen,

287
00:19:30.060 —> 00:19:30.893
if I may.

288



00:19:49.460 ——> 00:19:54.000
Now, my understanding of this, just to try and cut it short, 1is,

289
00:19:54.300 ——> 00:19:57.680
uh, this is, this is flood tide.

290
00:20:00.140 ——> 00:20:05.080
Um, the arrows are indicating the, uh,

291
00:20:05.080 ——> 00:20:09.840
current direction parallel or effectively parallel to the proposed

292
00:20:09.840 —> 00:20:14.160
development, um, fingers. Unm,

293
00:20:17.830 ——> 00:20:20.960
what I don't see is the maneuver being completed,

294
00:20:21.380 —> 00:20:24.000
is this one of the runs, which was aborted.

295
00:20:24.030 ——> 00:20:26.880
Perhaps a quick answer from the applicant's team on this,

296
00:20:33.020 ——> 00:20:35.000
And just finding out for you, sir,

297
00:20:37.260 ——> 00:20:41.720
Um, whilst we're doing that, uh, it might be worth asking,

298
00:20:42.060 —> 00:20:46.960
um, Ms. Nielsen to give a commentary on what's happening here.

299
00:20:53.390 ——> 00:20:54.170
Yeah. Yes,

300
00:20:54.170 ——> 00:20:58.640
Benen on, uh, on behalf of, uh, D F D Ss, uh, thank you, sir.

301
00:20:58.840 —> 00:21:02.280
I think I will, uh, pass on to, uh, one of my more experienced



colleague in, uh,

302
00:21:02.280 ——> 00:21:07.280
in this, uh, area with, uh, with the, with the mistake. I,

303

00:21:07.360 ——> 00:21:10.400

I may, may, uh, make a little bit mistake here and, uh, and that
would not be,

304
00:21:10.400 —> 00:21:11.560
uh, be wise, time-wise.

305
00:21:16.200 —> 00:21:18.680
I will pass on to, um, captain Carlson, please.

306
00:21:19.350 ——> 00:21:24.120
Yeah, Kim Carlson on behalf of d ft s. Uh, we talked, um,

307
00:21:24.930 ——> 00:21:27.240
about the current, how it affects the, uh,

308
00:21:27.740 ——> 00:21:30.000
can please put it down a little so I can see it on the top.

309
00:21:31.110 ——> 00:21:33.240
Just need to see it on the computer here. Just one second.

310

00:21:36.710 ——> 00:21:41.400

Yeah. The, the way of reworking down to the birth is, is that the,
the swing,

311

00:21:41.400 ——> 00:21:46.240

what was been done here is, uh, I don't know who did that, but the,
uh, the,

312

00:21:46.300 ——> 00:21:50.840

the current, uh, grabs the, the, the stone of, of the ship and
actually, uh,

313
00:21:51.180 ——> 00:21:52.880
you, you lose control, uh,



314

00:21:52.970 ——> 00:21:57.000

where you should be at a smallest angle as possible with the
current.

315

00:21:57.060 —> 00:22:01.840

So everything you do exactly there with that current will make a big
difference.

316
00:22:02.540 ——> 00:22:04.720
So here, the, uh, the angle,

317
00:22:04.820 ——> 00:22:08.000
the swing of the ship comes with all the current on the side.

318
00:22:08.000 —> 00:22:11.160
That's almost impossible to control. So what you do, you,

319

00:22:11.160 ——> 00:22:14.720

you get closer to get down to the berth is actually to make sure
that the

320
00:22:14.720 ——> 00:22:17.040
current is from the stern with the smaller angle as possible,

321

00:22:17.380 ——> 00:22:22.320

use the socks and slowly slide down in where you need to go. So here
it's,

322
00:22:22.380 ——> 00:22:27.320
um, it's showing that even with toxin, um, the ship, uh,

323

00:22:27.540 ——> 00:22:32.360

is, uh, yeah, it doesn't hit anything here, but it's very, very
close.

324
00:22:32.620 —> 00:22:36.400
And I think they almost auto control, uh, um, they's try to, to,

325

00:22:36.400 —> 00:22:40.200

to get into position. They save it, but it's just the final coal
there.



326
00:22:40.460 ——> 00:22:42.880
So I think that is what's happening on, on, on this maneuver.

327

00:22:43.380 —> 00:22:47.320

It just shows the importance of a small angle with the current and
where you

328
00:22:47.320 ——> 00:22:50.280
need to go. And if you have the wind on the same side, um,

329

00:22:51.030 ——> 00:22:54.000

it's going to be a dangerous situation. So this is what's happening
here.

330
00:22:54.900 ——> 00:22:59.000
And sir, just to confirm, this was one of the aborted simulations.

331
00:23:04.940 ——> 00:23:09.040
Am I to understand from that, that if there is, uh,

332
00:23:09.520 ——> 00:23:13.360
a difference of, um, several degrees between the,

333
00:23:15.140 ——> 00:23:19.720
the input to the model, uh, for current direction,

334

00:23:20.670 ——> 00:23:25.560

that it would make a difference to, um, how that maneuver is
conducted?

335
00:23:27.470 ——> 00:23:30.800
Well, I think the, the, yeah, the,

336
00:23:31.100 ——> 00:23:35.880
the situation there is probably, uh, um, yeah, maybe,

337
00:23:35.940 —> 00:23:38.040
um, a, a personal, uh,

338
00:23:39.410 ——> 00:23:42.120
wrong decision making there or, but if you have,



339

00:23:42.120 ——> 00:23:47.000

let's say a difference of 20 degrees, um, compared to what you
expect, then,

340
00:23:47.110 —> 00:23:48.880
then you have a little push to start with.

341
00:23:48.880 —> 00:23:51.040
And if you do not correct it straight away,

342

00:23:51.380 ——> 00:23:54.760

you end up a situation like this that you lose control. And then
finally, when,

343
00:23:54.760 ——> 00:23:58.800
when you're stopping the ship, uh, she, she's still drifting. Um,

344

00:23:59.390 ——> 00:24:03.640

that is the situation there. So, um, if you have 20 degrees
difference,

345
00:24:03.640 —> 00:24:06.560
for example, with parallel, with the I 0 T,

346
00:24:06.560 ——> 00:24:09.920
because you don't wanna get too close to, uh, the i o OT at the, um,

347
00:24:10.540 ——> 00:24:14.440
at the alpha corner, um, this is where the,

348

00:24:14.440 ——> 00:24:18.840

the current system most strong, uh, and most aggressive. So if you
get in there,

349
00:24:18.940 ——> 00:24:21.960
you need to be slow moving all the time to get in there.

350
00:24:22.100 —> 00:24:25.680
So start turning a little, or the current is on the wrong side, uh,

351



00:24:25.790 ——> 00:24:29.800
more than you anticipate, then you lose control if you're not very
much aware.

352
00:24:29.990 ——> 00:24:34.000
It's easy for me to see when I do it, um, all the time. But, uh,

353
00:24:34.400 —> 00:24:37.120
I think this is what happened here. So, uh, changing in the,

354
00:24:37.120 —> 00:24:40.120
in the direction of the current and how you maneuver, um,

355

00:24:41.010 ——> 00:24:44.920

makes a big difference. You need to be awake all the time and really
be sharp,

356
00:24:44.990 ——> 00:24:49.280
because this is, uh, exactly way it changes. Yeah. So, yeah.

357
00:24:50.010 ——> 00:24:53.520
Thank you Captain Carlson. I think the follow up question is, um,

358
00:24:53.940 ——> 00:24:56.000
and I think that there may be a number of,

359
00:24:56.300 ——> 00:25:00.600
of people who would either be able to, or wish to speak to this,

360
00:25:01.980 ——> 00:25:05.320
um, in that situation, what happens

361
00:25:07.100 ——> 00:25:11.600
in the, in the real world and, uh, the judgment, uh,

362
00:25:11.820 ——> 00:25:16.440
has gone wrong. Um, how does,

363
00:25:18.100 ——> 00:25:20.160
how does the vessel bail outta that?

364



00:25:21.270 ——> 00:25:24.520
Yeah, well, uh, in simulations,

365

00:25:24.940 ——> 00:25:29.480

the things can always be, uh, redone or being checked again or tried
again.

366
00:25:29.740 ——> 00:25:31.920
In the real world, you uh, just try to, to,

367
00:25:31.920 ——> 00:25:34.120
to rescue the ship and stop the ship from, from, uh, from,

368
00:25:34.150 ——> 00:25:37.240
from drifting or being out of control, and then getting back,

369

00:25:38.210 ——> 00:25:41.840

going up to a, to a safe position and start from there and, and go
back.

370
00:25:41.860 —> 00:25:44.960
But in the real world, it'll be, um, a, a terrible situation.

371

00:25:47.840 ——> 00:25:52.000

I think I, I'll be asking the applicant to, to comment in a moment,
but, um,

372
00:25:52.570 ——> 00:25:54.120
where are the tugs in this is

373

00:25:56.260 ——> 00:26:00.680

The talk that they, on a small, uh, do is sadly for me to see what
yeah,

374
00:26:02.910 —> 00:26:04.160
they, they want that they're pushing.

375

00:26:04.600 ——> 00:26:09.400

I, T would say this is a deliberately naive question. Um, we've got
a bit,

376
00:26:09.400 ——> 00:26:12.440



but I, I think it will be very helpful for you to, to, uh,

377
00:26:12.840 ——> 00:26:14.800
indicate those which are pushing, and those which are pulling

378

00:26:21.980 ——> 00:26:26.440

The one on the sides on the, on the, on the, on the north side of,
of, of, of,

379
00:26:26.460 —> 00:26:29.160
of the ship is pushing you, you have them lying on,

380
00:26:29.160 ——> 00:26:33.560
on the side trying to push the stern. Uh, the one is old is, is,

381
00:26:33.660 ——> 00:26:36.920
is in the side of the, um, of, of the ship's control.

382

00:26:36.980 ——> 00:26:40.680

You can see that that one is pushing, and the one far away is, is
trying to, to,

383
00:26:40.680 —> 00:26:44.160
to heav it up. Uh, you can see the, well,

384
00:26:44.160 ——> 00:26:46.880
it's a little confusing to see the, the TOXs where they're pushing,

385
00:26:46.930 ——> 00:26:49.200
where they're heaving. So, um,

386
00:26:52.670 ——> 00:26:54.080
yeah, uh,

387
00:26:56.460 ——> 00:26:57.440
Um, for the applicant's,

388

00:26:57.440 ——> 00:27:00.760

It's look like the, so somebody's is heaving on, on, on the, on, on
the stern,

389



00:27:00.760 ——> 00:27:05.680
yeah. And then one is pushing again, and they, um, if, if, if,

390
00:27:05.680 —> 00:27:08.360
if that's a, if that's a maneuver, then it's, um,

391

00:27:09.070 ——> 00:27:13.440

it's a completely misunderstood kind of maneuver when, when, when
doing it. Uh,

392
00:27:13.620 ——> 00:27:18.360
so my anticipation was actually push the ball more to

393
00:27:18.540 ——> 00:27:22.520
the, uh, parallel with the arrows when, when going in. Um,

394
00:27:22.860 ——> 00:27:26.320
so it looks, right now it looks like somebody is actually, uh,

395
00:27:26.320 ——> 00:27:30.600
wants to bring the ship, doing, doing, doing it in,

396

00:27:30.780 ——> 00:27:33.680
in the port swing. That looks like it, yeah. With the tos connected.
Yeah.

397
00:27:35.010 ——> 00:27:39.320
Thank you, um, for the applicant, just very briefly, uh, now the,

398

00:27:40.340 —> 00:27:44.760

the, um, you've had an opportunity to look at this. Two questions.
One 1is,

399
00:27:45.460 ——> 00:27:49.040
is there any differentiation that is obvious in the, uh,

400

00:27:49.900 ——> 00:27:54.720

if you like the, um, the symbols for the tugs as to which is
pushing,

401
00:27:54.770 —> 00:27:55.603
which is pulling,



402
00:27:56.740 ——> 00:27:57.380
Uh, yeah,

403

00:27:57.380 ——> 00:28:02.200

sir James drawn for a v p I think if you want to understand what's
going on

404

00:28:02.200 ——> 00:28:06.760

here. Yeah, I'll just ask Mr. Par, who is, yeah, from HR
Wallingford,

405
00:28:07.360 —> 00:28:10.080
I don't think Captain Carlson was even at this simulation,

406
00:28:10.380 —> 00:28:12.920
and therefore may assist, uh,

407
00:28:12.940 ——> 00:28:17.320
if we pick up a number of those questions about this. And indeed,

408
00:28:18.140 ——> 00:28:19.280
uh, if it's convenient,

409
00:28:19.380 ——> 00:28:24.240
we might as well deal with the question of the tidal flow at the I

410
00:28:24.280 ——> 00:28:26.320
o ot, which is, seems to have prompted this

411

00:28:26.680 ——> 00:28:31.280

Question. I, I think that although it's interrupted your flow, um,
staffer,

412
00:28:31.320 ——> 00:28:33.880
I think it'll be helpful to address this straight away.

413

00:28:34.280 ——> 00:28:37.120

‘cause I think it goes to the heart of the matter. The second
question I have,

414



00:28:37.120 ——> 00:28:41.680
apart from the symbolism, so to help us understand what's going on
here, is,

415
00:28:41.940 —> 00:28:46.360
um, it's been established that this was an abort. Is it re uh,

416
00:28:46.460 —> 00:28:48.800
in the N R a, uh, recorded as a fail?

417
00:28:49.990 —> 00:28:54.320
I'*1t, I'1,, I'll ask, um, mr part to explain that to you, but, uh,

418
00:28:55.100 ——> 00:28:59.640
yes. Um, so can I, what I'll ask Mr. Par is just to,

419
00:29:00.660 ——> 00:29:02.320
before we get onto the simulation,

420

00:29:02.330 ——> 00:29:06.560

could we just go back one stage to the question that prompted your
reference to

421
00:29:06.560 ——> 00:29:10.920
simulation? And that's the question, the title flow, uh,

422
00:29:11.400 ——> 00:29:14.160
measured at the births or model from the birth,

423
00:29:14.330 ——> 00:29:19.120
using the boy data and the tidal flow at the I 0 T and the apparent

424
00:29:19.130 ——> 00:29:22.240
difference, and whether that is of consequence.

425
00:29:22.300 ——> 00:29:25.040
And then to turn to this simulation.

426
00:29:27.060 —> 00:29:31.440
So Mike Par, HR Wallingford, uh, representing a b p here today,

427



00:29:32.140 ——> 00:29:37.120
uh, in terms of the flows at, uh, the port and used in the
simulations,

428
00:29:37.720 ——> 00:29:40.160
I think HR Wallingford would agree with, uh,

429

00:29:40.320 —> 00:29:45.,280

D FDS that the flows to the north of I o T aren't represented in
the way that,

430
00:29:45.500 —> 00:29:49.880
uh, pilots, uh, experience them on a day-to-day basis. However,

431

00:29:50.780 ——> 00:29:54.,840

the focus of the modeling that we've undertaken at HR Wallingford is
to ensure

432
00:29:54.840 ——> 00:29:59.680
that the flows at the iott as representative as we can manage,

433

00:30:00.380 ——> 00:30:04.920

so that the feasibility of the large ships operating in the vicinity
of the new

434
00:30:04.920 ——> 00:30:07.640
infrastructure has been properly assessed.

435

00:30:08.820 ——> 00:30:12.880

And that dec and the decision to concentrate on the modeling of the
flows in

436
00:30:12.880 ——> 00:30:15.680
that position, rather than in the Humber as a whole,

437
00:30:16.220 ——> 00:30:19.960
is due to the nature of the very complex flows in the Humber.

438
00:30:20.660 ——> 00:30:24.840
So in this area here, the, the river is on a bend. Uh,

439
00:30:24.840 —> 00:30:28.920



there's a lot of infrastructure in and around, uh, the,

440
00:30:29.020 ——> 00:30:31.560
the area which has its own effect on the flows,

441

00:30:31.620 —> 00:30:35.480

the number of piles on the infrastructure slows down the water, et
cetera.

442
00:30:35.480 —> 00:30:38.640
So it's a very, very complex place for us to, uh, model.

443
00:30:39.580 ——> 00:30:41.080
The modeling that we've, uh,

444
00:30:41.360 ——> 00:30:45.520
provided has been verified by initially six months of AD C P

445
00:30:46.700 ——> 00:30:50.640
or AAC data. So, uh, acoustic, um, data, um,

446
00:30:50.640 ——> 00:30:53.880
current observations, which were provided to us by A B P mer.

447

00:30:54.500 ——> 00:30:59.200

And we verified the flows in the vicinity of the proposed IOT
terminal. Uh,

448
00:30:59.200 ——> 00:31:02.240
initially in April of last year,

449
00:31:02.610 —> 00:31:06.520
additional data was made available to us, which showed some, uh,

450

00:31:07.600 —> 00:31:12.200

vertical variations within the water column at the IOT terminal
location.

451
00:31:12.460 ——> 00:31:15.240
And we did some additional, uh, modeling,

452



00:31:15.770 ——> 00:31:20.360
which was used in the, uh, simulations, which you've now got up on
the screen.

453
00:31:20.380 ——> 00:31:24.120
So the simulations, which we conducted in the summer of 2022,

454
00:31:25.780 —> 00:31:29.560
If I may. So just quickly, the a i data, uh, what,

455
00:31:29.560 ——> 00:31:32.320
what is the location for that data source?

456
00:31:33.280 ——> 00:31:36.120
I, okay. It's in, it's in the reports, and I can provide you the,

457

00:31:36.180 ——> 00:31:40.920

the exact location, but, um, it, it's approximately in the vicinity
of the iat,

458
00:31:41.250 ——> 00:31:42.120
maybe, uh,

459
00:31:42.130 ——> 00:31:47.000
50 to 75 meters to the north and, uh,

460
00:31:47.510 ——> 00:31:52.240
west of the, uh, of the middle pier, as it's very,

461
00:31:52.240 ——> 00:31:54.400
it's very adjacent to the, the location of

462
00:31:54.420 ——> 00:31:57.080
The, so yes, please submit that to the examination. Unm,

463

00:31:57.320 —> 00:31:59.720

I think that will be helpful. And then, uh, it gives the
opportunity,

464
00:32:00.060 ——> 00:32:03.440
the ips to consider that, um, sorry to interrupt your flow,



465
00:32:05.020 ——> 00:32:08.280
Uh, so that, that, that modeling was, um, done and the, uh,

466
00:32:08.280 ——> 00:32:12.040
an updated model was used for the simulations in July last year.

467
00:32:12.930 ——> 00:32:13.960
Subsequent to that,

468
00:32:14.440 ——> 00:32:18.720
A b P have undertaken additional title monitoring to verify

469
00:32:19.580 ——> 00:32:22.400
the readings, which were take, which were collected at the,

470
00:32:22.400 ——> 00:32:25.560
the Awac Boy in the period of 2019 to 2020.

471
00:32:26.790 —> 00:32:30.160
They took the opportunity to take additional, uh,

472
00:32:30.430 ——> 00:32:34.640
flow sectors across the, uh, approaches to the Ingham Bell mouth,

473

00:32:35.380 ——> 00:32:40.160

and in other parts of the, uh, approach move into, in towards the,
the iert,

474
00:32:40.500 —> 00:32:42.160
uh, HR Wallingford, uh,

475

00:32:42.680 ——> 00:32:46.320

verified the title model against those observations and a, and a
report,

476
00:32:46.320 ——> 00:32:50.840
which shows how strong the correlation is between the model and the

477

00:32:50.840 ——> 00:32:55.160

independent observations of, uh, flow is that report was also
provided,



478
00:32:55.160 —> 00:32:58.400
and I think that's been submitted, um, previously. So,

479
00:32:58.700 —> 00:33:01.280
And again, to con clarify what you've just said,

480
00:33:01.900 ——> 00:33:04.640
you are referring to the, uh,

481
00:33:05.070 ——> 00:33:08.960
correlation in the region of the, uh, proposed development

482
00:33:09.020 ——> 00:33:10.520
In the region of the proposed development

483
00:33:10.620 —> 00:33:14.400
As opposed to further out into the, into the Humber?

484
00:33:14.620 ——> 00:33:17.600
Yes, and at the beginning of the simulation sessions, which we've,

485

00:33:17.600 ——> 00:33:20.720

which we've run subsequent to each piece of flow modeling, we've
done,

486

00:33:20.720 ——> 00:33:24.600

we've explained the process and we've explained where we're content,
where the,

487
00:33:24.660 ——> 00:33:28.200
the, the flows are representative in terms of the,

488

00:33:28.300 ——> 00:33:31.800

the difference that we see in the main part of the river and the
IMing and

489
00:33:31.800 ——> 00:33:36.440
Balmouth, uh, HR Wallingford advice to a B P has been that,

490
00:33:36.510 ——> 00:33:41.440



that to concentrate on the getting the flows right in the vicinity
of

491
00:33:41.440 ——> 00:33:44.800
the new terminal, because that's what we're assessing. Uh,

492
00:33:44.820 ——> 00:33:48.640
we know by observation that vessels can maneuver across the flows,

493
00:33:48.640 ——> 00:33:52.520
and there are ways of managing the maneuver in order, for example,

494
00:33:52.700 ——> 00:33:54.320
to enter into, um,

495
00:33:54.750 ——> 00:33:59.000
Immingham block or as D F D S does, uh, today to,

496
00:33:59.000 ——> 00:34:01.320
for their operations in I Immingham Mountain Harbor.

497

00:34:01.500 ——> 00:34:05.080

So it is a difficult operation, and it, and it requires great skill
to,

498
00:34:05.080 ——> 00:34:08.040
to complete, but we're confident that in the sort of flows,

499
00:34:08.040 ——> 00:34:12.680
which in reality or experienced in the Humber that is

500

00:34:12.880 ——> 00:34:17.720

achievable. And the point at which you're looking at now at, uh, on
this run 59,

501

00:34:17.720 —> 00:34:21.960

which was the aborted run, uh, what the pilot's done there. So the,
the,

502

00:34:21.980 ——> 00:34:25.600

the pilot was one of the Humber pilots. It was his third consecutive
run.



503
00:34:26.340 ——> 00:34:27.140
And that you,

504

00:34:27.140 ——> 00:34:30.480

you'll understand that pilots don't normally do more than two or
three runs a

505
00:34:30.480 —> 00:34:33.120
day. So this is quite an intensive bit of, uh, work we're doing.

506

00:34:33.460 —> 00:34:37.480

And he's made a mistake in the, in the early part of this. So rather
than, uh,

507

00:34:37.870 ——> 00:34:42.360

keeping the vessel broadly parallel to the tide and allowing it to
set himself

508
00:34:42.360 —> 00:34:46.240
across into the, uh, approach, he's turned, uh, too sharply.

509
00:34:46.950 ——> 00:34:51.560
He's been closing the, uh, Ingham West Jetty, uh, too fast,

510
00:34:51.560 ——> 00:34:53.680
and he's got too close to Baer whether,

511
00:34:53.680 ——> 00:34:55.800
whether or not he would've recovered it in,

512
00:34:55.860 ——> 00:34:59.080
in the manner that Kim Carson suggested, uh,

513

00:34:59.100 ——> 00:35:02.160

at the stage where it became obvious that we were, that he, that
the,

514
00:35:02.220 ——> 00:35:05.760
his early action had got him into a position where we,

515



00:35:06.060 ——> 00:35:10.480
we were gonna learn nothing from this. We aborted

up,

516
00:35:10.700 ——> 00:35:15.160
and he repeated the run using the process that he

517
00:35:15.540 ——> 00:35:18.680
rather than following on from the, the, the, the,

518
00:35:19.260 —> 00:35:21.400
the error which was made in the early part of the

519
00:35:22.420 ——> 00:35:27.160

the run, reset it

had intended to,

the,

approach.

If this were real world, would the tugs be able to recover that?

520
00:35:39.020 —> 00:35:39.853
uh,

521
00:35:43.120 ——> 00:35:45.520

I think I, I think I need to, uh, to consider that further

522
00:35:48.970 ——> 00:35:52.950
And, um, to the harbor master. Uh,

523
00:35:54.150 ——> 00:35:56.510
v t s would be looking at this,

524
00:35:58.220 —> 00:36:00.150
what would the reaction of v t s be?

525
00:36:01.910 ——> 00:36:03.030
Victoria Hutton for the Harbor Master?

526
00:36:03.170 —> 00:36:05.350
So can I turn hand over to Captain Furman?

527
00:36:08.890 ——> 00:36:13.060

Yeah, Andrew Furman, uh, Harbor Master Hubber, uh, in a close

situation,

528



00:36:13.120 ——> 00:36:17.580
min monitoring situation like this, um, it would be possibly Dium
dock,

529

00:36:17.580 ——> 00:36:22.300

which has its marine control tower that, that may alert. Um, but,
um,

530

00:36:22.880 ——> 00:36:27.060

we would expect the vessel to be realizing he was in, in problems
as,

531
00:36:27.160 ——> 00:36:30.660
as Mike says, the early turn 90 degrees to port,

532
00:36:30.850 ——> 00:36:33.900
puts him in a situation that's very difficult and, and not normal,

533
00:36:34.160 ——> 00:36:37.820
in normal operations for the, for the dock. So at that stage,

534

00:36:37.820 ——> 00:36:41.140

it would be down to the, the power of the tugs and the reaction of
the pilot.

535
00:36:41.690 —> 00:36:44.220
It'd be very difficult for v t s to intervene, um,

536

00:36:44.630 ——> 00:36:48.020

given the short timescale and, and close proximity of what's going
on.

537
00:36:49.840 ——> 00:36:52.540
If it was from a longer, but a longer distance than, uh,

538
00:36:52.650 ——> 00:36:55.380
over a longer time period, v t s would, would intervene and,

539
00:36:55.400 ——> 00:36:57.220
and make sure everyone was aware of the situation.

540
00:36:58.070 ——> 00:37:02.740



Thank you. That's very clear. Um, I'm not sure that it's fair to ask
you to, to,

541
00:37:02.960 ——> 00:37:07.420
to comment on behalf of Dock Master Control at

542
00:37:07.660 ——> 00:37:12.580
Ingham, but, uh, they, they're your colleagues in a sense. Um,

543
00:37:15.090 ——> 00:37:18.220
what would the doc, masters, uh, team be doing at this point?

544
00:37:20.740 ——> 00:37:24.740
I, T would expect them to be, um, raising concern if, if it was a

pa,

545
00:37:24.740 ——> 00:37:27.300
if they were the only ones that had realized the concern,

546
00:37:27.410 ——> 00:37:31.260
that then they would be raising that in, in, in, uh, in real life,

547
00:37:31.540 ——> 00:37:34.860
possibly tuck skippers as well, but also be realizing the, uh,

548

00:37:35.100 ——> 00:37:38.700

maneuver wasn't going as planned. So that's where in real life,
there are,

549

00:37:39.030 ——> 00:37:42.260

there are more pieces achieved than, than simulation after
simulation.

550
00:37:44.750 ——> 00:37:49.670
Ultimately, the command here is the, let's take the assumption.

551
00:37:49.860 ——> 00:37:52.390
It's, uh, it, it's under the control of a,

552
00:37:52.990 —> 00:37:55.270
a master with pilot exemption certificate.



553
00:37:55.850 ——> 00:38:00.670
The ultimate decision making and command is whose,

554

00:38:01.570 —> 00:38:05.630

Uh, that would be the, the pilot exemption certificate holder would,
uh,

555
00:38:05.650 ——> 00:38:08.390
has the conduct of navigation of the vessel, uh,

556
00:38:08.390 ——> 00:38:11.110
notwithstanding that the pilot ejected, uh,

557

00:38:11.130 —> 00:38:13.910

the responsibility for the safety of the vessel remains with the
master.

558
00:38:16.680
Thank you.

-> 00:38:17.513

559
00:38:20.600 ——> 00:38:20.950
Sorry,

560
00:38:20.950 ——> 00:38:22.750
Sir. I think Mr. Paul wants to add something.

561
00:38:23.210 ——> 00:38:24.043
Cha check.

562

00:38:25.090 ——> 00:38:29.430

So my power HR willing for having time, had time to consider your
question.

563

00:38:30.230 ——> 00:38:34.190

I, I think the answer is that the key to this maneuver is the same
as it is for

564

00:38:34.470 ——> 00:38:37.920

approaches to, in Immingham Mount Harbor and to the Immingham Bell
mouth,

565



00:38:38.020 ——> 00:38:42.600
in that the pilot has to bring the vessel under control before he
can get it

566

00:38:42.600 ——> 00:38:46.080

into a position where he's happy to start the maneuver. So in this
case here,

567

00:38:46.080 ——> 00:38:50.040

that would've been approximately where the, the red vessel is. So
the,

568
00:38:50.100 ——> 00:38:51.600
the 10 minute into the maneuver mark,

569
00:38:51.860 ——> 00:38:56.160
so when he is well away from the eastern jetty, the point at which,

570
00:38:57.220 ——> 00:39:00.640
and he, at this point here, the pilot hadn't settled the vessel,

571

00:39:00.700 ——> 00:39:03.640

and the vessel wasn't steady, and he wasn't ready to back up into
the,

572
00:39:03.710 ——> 00:39:08.680
into the ber because of the rate that had turned down towards

573
00:39:08.780 ——> 00:39:12.920
the eastern jetty initially having got himself into that position,

574
00:39:13.270 ——> 00:39:16.080
that would've been the pos the time to abort the maneuver,

575

00:39:17.060 ——> 00:39:20.640

not when we got it all the way back down to the, to the Eastern
jetty.

576
00:39:21.140 ——> 00:39:23.480
And this is this, and this, this speaks to the,

577
00:39:23.480 ——> 00:39:28.320



the criticality of the training that's gonna be required in order to
ensure

578
00:39:28.320 —> 00:39:32.080
that, that the pilots and the pecs are familiar with the maneuver,

579
00:39:32.080 ——> 00:39:33.520
which they have to undertake it.

580
00:39:33.520 ——> 00:39:36.680
And that's in line with what we see happening for, uh,

581
00:39:36.790 —> 00:39:40.880
with pilots and pecs for Ingham Bellm mouth, and for the, uh,

582

00:39:41.050 ——> 00:39:44.920

other ports on parts of the, uh, Humber, which are equally
challenging.

583
00:39:46.460 ——> 00:39:51.200
May I ask, and does that same comment apply to the,

584
00:39:51.300 —> 00:39:53.080
um, the tug masters?

585
00:39:54.620 ——> 00:39:57.960
Uh, HR Wallingford recommend that tug masters attend,

586

00:39:59.620 ——> 00:40:03.240

uh, continuation training with pilots because it's a really valuable
way to make

587

00:40:03.240 ——> 00:40:07.520

sure that the tug masters and the pilots work with each other. I
think that

588
00:40:09.360 ——> 00:40:13.560
A B P Humber have been pushing that process in the, uh,

589

00:40:14.340 ——> 00:40:16.960

in the continuous professional development with their pilots that
they've been



590
00:40:16.960 —> 00:40:20.080
doing HR with H R W, and it's a very positive step.

591
00:40:21.140 ——> 00:40:23.320
Did you have tug masters involved in the simulations?

592
00:40:23.820 —> 00:40:24.653
We have.

593
00:40:24.660 ——> 00:40:29.040
All the simulations were supported by tug masters who were from

594

00:40:29.600 ——> 00:40:33.040

Humber tug service or com companies, which provide marine services
on Humber.

595

00:40:33.040 ——> 00:40:38.000

And their opinion has been really important in establishing whether
they thought

596
00:40:38.140 —> 00:40:41.240
the simulations and effects which we were, uh,

597
00:40:42.640 ——> 00:40:45.040
demonstrating were realistic and achievable.

598
00:40:46.700 ——> 00:40:49.920
Um, this is an near miss. Um,

599
00:40:50.670 ——> 00:40:52.160
what would happen in real life

600

00:40:53.740 ——> 00:40:58.320

as an near miss if they had managed to bail out at the position of
the red, uh,

601
00:40:58.320 ——> 00:41:02.480
vessel, as you say, um, whilst it's still, uh, um,

602
00:41:03.440 —> 00:41:06.640



a ship's length away from the, um, the eastern jetty,

603
00:41:08.190 —> 00:41:10.040
what would then happen?

604
00:41:12.220 ——> 00:41:13.920
If I can use an analogy, sir?

605

00:41:14.740 ——> 00:41:18.000

So at the point I was suggesting the original bailout should have
happened,

606
00:41:18.600 ——> 00:41:20.280
I wouldn't suggest that was a near miss.

607
00:41:20.280 ——> 00:41:23.040
That would be the equiv